Deutsche Eishockey Liga - Saison 2000/2001

Hauptrunde
Spieldetails
01.12.2000 Hannover Scorpions - Eisbaren Berlin
Zuschauer Referee Linesman Linesman
2942 HELLWIG, Wolfgang DIERBERG, Sascha JABLUKOW, Georgij
Drittelergebnisse
1. Drittel 2. Drittel 3. Drittel Endergebnis
Hannover Scorpions 1 1 0 2
Eisbaren Berlin 1 0 0 1
Tore
Spieler Assist Zeit Typ
1. Drittel  |0:1 |Eisbaren Berlin D. Cormier J. Chabot - S. Walker 09:46 EQ
1:1 'Hannover Scorpions W. Schreiber 17:34 | EQ
2. Drittel  |2:1 |Hannover Scorpions D. Haas D. Lavoie - D. Sulkovsky 24:41  EQ
™
Spieler Team Strafe Min | Zeit
1. Drittel S. Walker Eisbaren Berlin Unnotige Harte 2 02:49
C. Snell Hannover Scorpions Unnotige Harte 2 02:49
R. Cowie Eisbaren Berlin OTHER 2 17:34
S. Walker Eisbaren Berlin Ellbogen-Check 2 19:49
L. Soccio Hannover Scorpions Stockschlag 2 19:49
2. Drittel S. Felski Eisbaren Berlin UN-SP 2 27:48
P. Zetterberg Hannover Scorpions UN-SP 2 27:48
3. Drittel N. Pyka Eisbaren Berlin Beinstellen 2 40:55
Summe|Hannover Scorpions 6 Min.
Summe| Eisbaren Berlin 10 Min.
Uberzahl-Vergleich (Tore/Powerplays)
Schiisse auf's Tor
1. Drittel 2. Drittel 3. Drittel Gesamt
Hannover Scorpions 18 13 11 42
Eisbaren Berlin 9 10 7 26
Torhiiterstatistik
Spieler, Team MIP SH GA SH%
Cagas, Pavel - HAN 60:00 26 1 96,15
Merk, Klaus - EBB 59:30 42 2 95,24

Spielerstatistiken

Hannover Scorpions Eisbaren Berlin
Spieler

J. Chabot

D. Cormier
R. Cowie

P. Czajka

P. Eckmair
S. Felski

M. Fortier

C. Govedaris
B. Hinterstocker
A. Jung

D. Laperriere
R. Leask

M. Lindman
K. Merk

N. Pyka

J. Smith

J. Tomlinson
L. Vaic

S. Walker

N. Watzke
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Spieler

O. Ackestrom
E. Bashkatov
V. Boulin

P. Cagas

M. Casselman
I. Chibirev

K. Grant

D. Haas

M. Kosturik
D. Lavoie

M. Loof

J. Munster
R. Murphy
W. Schreiber
C. Snell

L. Soccio

D. Sulkovsky
J. West

P. Zetterberg
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